
Prove that there exists a surjection from  onto .   
 
The solution may have some aspects in common with the proof of Hartog’s theroem.   
 
[we may not use the Axiom of Choice] 
 
Notation and Definitions 
 
Notation:  denotes the first uncountable ordinal. 
 

 is a well ordering of  with the property that  is countable for all   
 
Here is Hartog’s Theorem: 
 
[from Notes on Set Theory -Yiannis Moschovakis] 
[Let me know if you have a question on notation; I have a pdf file of this book] 
 

 



 


